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Sentence Correction Quiz 30

Directions: In this question, a part of the sentence is made bold. Below are given
alternatives to the bold part at (A), (B), (C) and (D) which may improve the sentence.
Choose the correct alternative. In case no replacement is needed, mark (E) as your
answer.

(1). Parliamentary rules and procedures government conduct in business don’t allow
sloganeering in any form inside the chamber.

(A). government conduct in business (B). governing conduct in business
(C). government conduct of business (D). governing conduct of business
(E). No correction required

(2) The weather office has stood up their initial forecast of monsoon rainfall being 96%
of average in the June-September season.

(A). stand by their initial forecast of (B). stood by its initial forecast of
(C). stand by its initial forecast of (D). stood up its initial forecast of

(E). No correction required

(3) RBI regulations must take away incentives of banks to kickbox the cans over the
road and “extend and pretend”.

(A). kick the can over the road (B). kicking the can down the road
(C). kick the can down the road (D). kickbox the can down the road
(E). No correction required

(4) Whatever the outcome, the momentum in buying gold is unlikely to half anytime
soon.

(A). is unlike to half anytime (B). are unlikely to half anytime

(C). is unlikely in halving anytime (D). is unlikely to have halved anytime




(E). No correction required

(5) Its really important in acknowledging the other person’s good nature and to identify
common ground and shared values.

(A). Its really important in acknowledge (B). It’s really important to acknowledge
(C). It’s really important to acknowledge (D). It’s really important to acknowledging
(E). No correction required

(6) We need to find ways to survive the grief and the loss of so many things we currently
take up granted.

(A). currently take up for granted (B). currently take for granted
(C). currently take from granted (D). currently take in for granted
(E). No correction required

(7) Heightened due to tension trade, which has been putting pressure on global growth,
gold has been witnessing safe haven buying.

(A). Heightened due to trade tension (B). Due to heightened trade tension
(C). Due to heightened tension trade (D). Due to heightened trade tensions
(E). No correction required

(8) The terms of bank chairpersons must be elongated in order to affect mean changes
and to hold them accountable.

(A). to effect meaningful changes (B). to affect meaningful changes
(C). to effect meaning changes (D). to affect meaningful changes
(E). No correction required

(9) Hedgers may get more aggressive with rising gold prices.

(A). get more aggressive in (B). getting more aggressive with
(C). get aggressiver with (D). getting more aggressive in

(E). No correction required




(10) On 5G, Modi told Trump that it was a new area in communication that provided an
opportunity for collaboration between India and the US.

(A). in communication that provided (B). with communications that provided
(C). in communications that provided (D). with communications that provided

(E). No correction required
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Explanations:

(1).

(2).

The original sentence is incorrect.

Reason: We can infer that parliamentary rules and procedures which govern how
business is conducted do not allow sloganeering inside the chamber. Therefore,
‘governing’ should be used instead of ‘government’ in the given context of the
sentence.

Moreover, here ‘conduct’ means ‘carrying out’, i.e. how business should be carried

- ‘

out. Therefore, instead of the preposition ‘in’, ‘of’ should be used here so as to
make the sentence correct.

The sentence after replacement becomes:

Parliamentary rules and procedures governing conduct of business don’t allow
sloganeering in any form inside the chamber.

Option D is hence the correct answer.

The original sentence is incorrect.
Reason: There are two errors in the bold part.

Firstly, the phrasal verb ‘stand by’ which means ‘adhere to or abide by (something
promised, stated, or decided)’ has been written incorrectly. Therefore, ‘stood up’
must be replaced by ‘stood by’ in order to make the sentence correct.

Secondly, usage of plural case of possessive pronoun ‘their’ is also erroneous. Here
the writer refers to the weather office which is a single institution. Therefore, ‘their’
should be replaced by ‘its’ to make it a grammatically correct sentence.

Among the choices available, option B replaces the bold part most appropriately.

The sentence after replacement becomes:




(3).

(4).

(5).

The weather office has stood by its initial forecast of monsoon rainfall being 96% of
average in the June-September season.

Option B is hence the correct answer.

The original sentence is erroneous.

Reason: The correct idiomatic expression is 'kick the can down the road' and not
'kickbox the cans over the road'.

kick the can down the road (Idiom):

Meaning: Put off confronting a difficult issue or making an important decision,
typically on a continuing basis.

E.g.: | appreciate that he doesn't want to raise taxes, but sooner or later you have
to stop kicking the can down the road.

Hence ‘kick the can down the road’ should be used in place of ‘kickbox the cans
over the road’ to make the sentence grammatically correct.

Among the given choices, only option C replaces the given bold part most
appropriately.

The sentence after replacement becomes:

RBI regulations must take away incentives of banks to kick the can down the road
and “extend and pretend”.

Option Cis hence the correct answer.

The original sentence is absolutely correct and hence the bold part needs no
replacement.

Option E is hence the correct answer.

The original sentence is erroneous.

Reason: The possessive pronoun ‘its’ has been used in correctly in this sentence and
should be replaced by “it’s” which is an abbreviation of ‘It is’. Moreover, the
sentence tells us which actions are important and to be done. Hence ‘to




acknowledge’ should be used in place of ‘in acknowledging’ to make the sentence
grammatically correct.

Among the given choices, only option C replaces the given bold part most
appropriately.

The sentence after replacement becomes:

It’s really important to acknowledge the other person’s good nature and to identify
common ground and shared values.

Option Cis hence the correct answer.

(6). The original sentence is erroneous.

Reason: Usage of the phrasal verb 'take up' which means ‘to start doing something
regularly as a habit, job, or interest ' is inappropriate in this sentence.

'Take for' which means ‘believe mistakenly’ would be suitable in this context. The
phrase ‘take for granted’ means ‘fail to properly appreciate someone or something,
especially as a result of overfamiliarity’.

E.g.: The boss takes us for granted, but if we weren't here, this whole company
would collapse.

Hence ‘take for’ should be used in place of ‘take up’ to make the sentence
grammatically and contextually correct.

Among the given choices, only option B replaces the given bold part most
appropriately.

The sentence after replacement becomes:

We need to find ways to survive the grief and the loss of so many things we
currently take for granted.

Option B is hence the correct answer.

(7). The original sentence is incorrect.

Reason: There are two errors in the bold part.




(8).

Firstly, the term ‘tension trade’ is absurd. Here, the writer makes a reference to
trade war. A trade war happens when one country retaliates against another by
raising import tariffs or placing other restrictions on the opposing country's
imports. Therefore, ‘tension trade’ must be replaced by ‘trade tension’ in order to
make the sentence correct.

Secondly, the author means to convey that trade tension has heightened.
Therefore, “heightened due to” should be replaced by “due to heightened” to make
it a grammatically correct sentence.

Among the choices available, option B replaces the bold part most appropriately.
The sentence after replacement becomes:

Due to heightened trade tension, which has been putting pressure on global
growth, gold has been witnessing safe haven buying.

Option B is hence the correct answer.

The original sentence is erroneous.

Reason: The word ‘affect’” means ‘have an effect on’ which is unsuitable in this
sentence. The correct word to be used here is ‘effect’” which means ‘cause
(something) to happen’.

Moreover, the word ‘meaningful’, which means ‘serious, important, or worthwhile’,
should be used in place of ‘mean’ so as to make the sentence contextually correct.

Among the given choices, only option A replaces the given bold part most
appropriately.

The sentence after replacement becomes:

The terms of bank chairpersons must be elongated in order to effect meaningful
changes and to hold them accountable.

Option A is hence the correct answer.




(9). The original sentence is absolutely correct and hence the bold part needs no
replacement.

Option E is hence the correct answer.

(10). The original sentence is erroneous.

Reason: The word ‘communication’ means ‘the imparting or exchanging of
information by speaking, writing, or using some other medium’ whereas the word
‘communications’. When used in the plural form, the word ‘communications’ also
refers to ‘the technology employed in transmitting messages’. Here the latter is
being referred to. Hence ‘communications’ should be used in place of
‘communication’ to make the sentence grammatically correct.

Among the given choices, only option C replaces the given bold part most
appropriately.

The sentence after replacement becomes:

On 5G, Modi told Trump that it was a new area in communications that provided an
opportunity for collaboration between India and the US.

Option Cis hence the correct answer.
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